r
e

| JTLELICLT

Partdrawing for DMR301 - Bouwradio

Model No.DMR301 JOB SITE CHARGER RADIO




Partdrawing for DMR301 - Bouwradio

Nr.

001
002
003
004
005
006
007
009
010
011
012
013
014
015
016
017
018
019
020
021
022
023
024
025
026
027
028
029
030
031
032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047

Part nr.

TC00000001
TC00000002
TCO00000003
TC00000004
TC00000005
TCO00000006
TC00000182
TC00000009
TCO00000011
TC00000012
TC00000011
TCO00000010
TC00000011
TC00000013
TCO00000014
TC00000016
TC00000017
TCO00000015
TC00000015
TC00000019
TCO00000011
TC00000020
TC00000178
TCO00000011
TC00000163
TC00000108
TCO00000027
TC00000026
TC00000011
TCO00000026
TC00000029
TC00000011
TCO00000030
TC00000011
TC00000031
TCO00000032
TC00000011
TC00000033
TCO00000011
TC00000034
TC00000011
TCO00000036
TC00000010
TC00000037
TCO00000038
TC00000040

Name

Stootgreep DMR300

Volume knop DMR300/301
Afdekkaphouder DMR300/301
Afdekkap USB DMR300/301
Met.schr. M6x45 DMR300/301
Voorhuis blw DMR300/301
Binnenhuis assy DMR301
Met.schr. M4x15 DMR300/301
Met.schr. M3x8 DMR300/301
Volumeknophouderkap DMR300/301
Met.schr. M3x8 DMR300/301
Kabelklem DMR300/301
Met.schr. M3x8 DMR300/301
Sleutel DMR301
Sleutelhouder DMR301
Sleutel top DMR301
Sleutelhouder top DMR301
Met.schr M1,7x5mm DMR301
Met.schr M1,7x5mm DMR301
Afdekkap circuit DMR300/301
Met.schr. M3x8 DMR300/301
Circuit displ DMR300/301
Kabel DMR300/301

Met.schr. M3x8 DMR300/301
Circuit USB1 DMR300/301
Circuit FDMR301

Scherm DMR300/301
Met.schr. M3x8 DMR300/301
Met.schr. M3x8 DMR300/301
Met.schr. M3x8 DMR300/301
Circuit USB2 DMR300/301
Met.schr. M3x8 DMR300/301
Circuit laad DMR300/301
Met.schr. M3x8 DMR300/301
Circuit CXT DMR301
Met.schr. M2x2,6 DMR300/301
Met.schr. M3x8 DMR300/301
Circuit schakel DMR300/301
Met.schr. M3x8 DMR300/301
Houder LXT DMR301
Met.schr. M3x8 DMR300/301
Circuit LXT DMR301
Kabelklem DMR300/301
Connector CXT DMR301
Schakelknop batt DMR300/301
Veer LXT DMR301

I'Hl.fl..! !!'l




Partdrawing for DMR301 - Bouwradio

Nr.
048
049
050
051
052
053
054
055
056
057
058
060
061
062
063
063-1
064
065
066
067
068
069
070
071
072
073
074
075
076
077
078
079
080
081
082
083
084
085
086
087
088
089
090
091
092
093

Part nr.

TC00000041
TC00000042
TCO00000045
TC00000032
TC00000111
TCO00000047
TC00000048
TC00000049
TCO00000050
TC00000051
TC00000052
TCO00000112
TC00000054
TC00000032
TCO00000046
TC00000186
TC00000055
TCO00000015
TC00000056
TC00000058
TCO00000059
TC00000060
TC00000045
TCO00000047
TC00000174
TC00000049
TCO00000051
TC00000050
TC00000061
TCO00000062
TC00000063
TC00000064
TCO00000066
TC00000067
TC00000068
TCO00000069
TC00000070
TC00000071
TCO00000072
TC00000073
TC00000075
TCO00000076
TC00000078
TC00000026
TCO00000175
TC00000011

Name

Aansluitunit LXT DMR301
Packing binnenhuis DMR300/301
Speakersteun DMR300/301
Met.schr. M2x2,6 DMR300/301
Soldeerpin DMR301
Speakerrubber DMR300/301
Speaker li DMR300/301
Speakergaas DMR300/301
Met.schr. M6x14 DMR300/301
Ring rubber DMR300/301
Met.schr. M3x10 DMR300/301
Antenne DAB DMR301

Ring rubber DMR300/301
Met.schr. M2x2,6 DMR300/301
Draadboom DMR300 P
Antennekabel DMR300 P
Circuit DC-jack DMR301
Met.schr M1,7x5mm DMR301
Houder DC jack DMR301
Achterhuisas DMR300/301
DC-jack kap DMR300/301
Met.schr. M3x14 DMR300/301
Speakersteun DMR300/301
Speakerrubber DMR300/301
Speaker re DMR300/301
Speakergaas DMR300/301
Ring rubber DMR300/301
Met.schr. M6x14 DMR300/301
Batterystrip plus DMR301
Batterystrip min DMR301
Batterijaanslplt min DMR300
Batterijafkap DMR300/301
Inbusschr M3x45mm DMR300/301
Pakking middenhuis DMR300/301
Met.schr. M6x19 DMR300/301
Drukveer DMR300/301
Kogellagerbal DMR300/301
Handgreepplaat R DMR300/301
Handgreepplaat L DMR300/301
Handgreep L DMR300/301
Handgreep DMR300/301
Handgreep R DMR300/301
Met.schr. M6x20 DMR300/301
Met.schr. M3x8 DMR300/301
Batterijbufferplt DMR300/301
Met.schr. M3x8 DMR300/301

I'Hl.fl..! !!'l




Partdrawing for DMR301 - Bouwradio

Nr.

094
095
096
097
098
099
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
122
126
127
128
129
130

Part nr.

TC00000080
TC00000082
TCO00000085
TC00000086
TC00000011
TCO00000087
TC00000089
TC00000090
TCO00000011
TC00000091
TC00000093
TCO00000094
TC00000096
TC00000097
TCO00000099
TC00000100
TC00000068
TC00000102
TC00000104
TC00000068
TCO00000179
TC00000180
TC00000181
TCO00000169
TC00000164
TC00000165
TCO00000184
TC00000172
TC00000176

Name

Achterplaat DMR300/301
Ring rubber DMR300/301
Flesopener DMR300/301
Houder DMR300/301
Met.schr. M3x8 DMR300/301
Telefoonhouder DMR300/301
Met.schr M3x8mm DMR301
Pakkingring DMR301
Met.schr. M3x8 DMR300/301
Achterhuis DMR301

As kort DMR301

Draaghaak

As lang DMR301

Sluiting DMR301

Haak DMR301

Huishouder L biw DMR300/301
Met.schr. M6x19 DMR300/301
Huishouder R blw DMR300/301
Huishouder blw DMR300/301
Met.schr. M6x19 DMR300/301
Kabel 4P DMR300/301

Kabel 8P DMR300/301

Kabel 2/4P DMR300/301
Draadboom DMR301
Aanluitunit CXT DMR300/301
Aansluitunit LXT DMR300/301
Middenhuis assy DMR301
DC-jack DMR300/301
Achterhuis DMR300/301

'H!{l,;!!!‘fl




